CALCULUS 1II EXAM 5 A Dr. RAPALJE--SCC at HUNT CLUB

SHOW ALL WORK ON SEPARATE PAPER. Justify and circle all answers.
Where calculators are used, describe procedures, etc.
Formula sheets are allowed.

Tn l—-l) Frnd A /WﬁPVJ ”'Ffﬂ'!vef")€nce. a‘p‘éé/aw serves _
Check. enclpoin?f's -

s @) (3" 2 fu) X
[, = X-3 'z, =
521 h gn n=o .

In 3-4, find Qem‘énc Series for “ha Renelim cenéwwﬂ,‘tf C=go,

Give general Horm.

4.
3. = 2):——:%, 4., £XA= 4—:;;

5, Use 'ﬁé. c:le‘g'nbfhf?b? (Jer‘qu‘é‘(ﬂme.ﬁ m@:ééc:/ > ﬁ Find
| e 7;47/&1’ Series
£)z 57 centered ot x=/,

<
-X
6. Fiand a 7—'&7/07- Series 4o~ TRl= @ centber attX= C',?>‘

L‘\ 7-?) ‘C;I\C{ & /OMV" Seyites (Q?(/‘?’?M @»\4(/78#7emp
)




—

Deriving Taylor Series from a Basic List \

In the following list, we provide the power series for several elementary functions with
the corresponding intervals of convergence.

Power Series for Elementary Functions
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*The convergence at x = *1 depends on the value of k.
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